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. Which is the 27" term of the sequence 5, 14, 23, .............2(3T&H 5, 14, 23,..............
@1 274t ug fifdhd § &9 8 ?

(a) 239 (b) 100 (c) 101 (d) 900

. Inan A.P. first term is 1 and last term is 11. If the sum of n terms is 36, the value
of n will be : T& AMIAR 21T 7 Ugal U 1 € 3R AfH ug 11 2 | AT n U&f &1 AT 36
8 dI n &I A9 8N

(a) 10 (b) 7 (c)6 (d)5

. Geometric mean of aand b is : a 3R b &I TR Ay & —

a+b

(a) — (b) ab? (c) Vab (d) None of these (374 & 13 7T8)

. The third term in G.P. is 4. The product of first 5 term is : U& IR /&l H TERT IS
4 T | 39 Y2 5 Y&l P PHGA § —
(a) 256 (b) 2,048  (c) 512 (d) 1,024

. 1f ¥p, = 2,730 then the value of r will be : afg °p, = 2,730 & @ r &1 79 8 T —
(a) 3 (b) 4 (c)5 (d) 6


F.M-40


6. If "c12 ="cgthen nis equal to : IfE "c12 = "cgdT N R &
(a) 20 (b) 12 (c)6 (d) 30

7. How many different word of 2 letters can be formed out of the letter of the
word CAT ? CAT ¥ & 3eRI | 2—2 eRI & fhad Ieg 99 Il 8 7
(a) 8 (b) 6 (c)3 (d)2

8. If "P3 =60 then the value of nis : afe "P3 =60, d n &1 91 82—

(a) 3 (b) 5 (c)9 (d) 20
10 7
9. The value of 8 &5
(a) 15 (b) 5 (c)-6  (d) None of these

X2 X
10.The value of 5x 5

(a)o (b) 1 (c)5 (d)25

11.A matrix with single column and any number of rows is known as : Tde w#T 3iR
fopefl 1 He= arell ufdaal & gaa g deatar o

(a) Singular matrix (Ul 3Meyg)
(b)Row Matrix (dfdd mreg)

(c) Diagonal Matrix (fa@®vr aeE)
(d) Column Matrix (X1 31Tyg)

12.In a row matrix, the no. of row is : (dfdd amegg ¥ dfdaai @ Hwm excll 2 )-
(a)1 (b) 2 (c) 3 (d) None of these (3% & &3 7T8)

13.IfA=3 é],3=[g ;],thenA+B:(?Jﬁ{A=[§ é],3=[§ ;],eﬁms):-

(@) B'_Z; 172 (b) [172 g] (c) [:% _46] (d) [2 Z



14.1f A={a, b, c,d.}, B={b, d, e, f,} ar A n &1 a1 8111 (If A={a, b, ¢, d}, B={b, d, e, f}
then the value of A n B will be) : If unifersel set x = {1.2.3...20}
(a){a,b,c,d,e.f) (b){b,d} (¢){d,e,f} (d){c,d, e}

15.1f A= {p, q,1,s}, B={q, s, t}, C= {m, q,n}, a1 C— (An B) Farfew (If A={p,q,r,
s}, B={q, s, t,}, C={m, q, n}, find C-(ANB):

(@){m,n} (b){p,a} (c)(r,s} (d) {p, r}

16.The differential coefficient of 3..* w.r.t... will be:
» @ AT 3.4 BT SadHAT IOTH BN

17.1f y = 2 logz.- then Z—Z is equal to:
afe y =2 logy. FﬁZ—z ERI AR
(a) X (b) 1 (c)O (d)y

18./(2x + 3)° dx =7
(2x+3)°
(a) —;
4
(b) (2x+3) +
(c) (2x+3)° +C
12

8
(d) NOne of these (374 & @15 1)

C

19.f x®dx =?
(a) 7x7+C (b) x77 +C (c) 6x° +C (d) 6x7 +C

20.The best measure to central tendency is A.M is it true ?
DAL YT HT FaRTH A9 GO AR ¥ | R I8 A B 2
(a) yes (b) No

21.Mean of 5, 8, 11, 16, 15 is:



5,8, 11, 16, 15 BT AT &
(a) 10 (b) 11 (c) 12 (d) 13

22.Formula of median for individual series is:

23@1%@%?5%?%@@5%

(a ) th term (b) th termr (c) nTH th term (d) (2) th term
24.80, 100, 90, 170, 60, 50, 40 BT HIIDT & —
(a) 80 (b) 170 (c) 90 (d) 60

25.Median is: ATfegaT &:
(a) Most frequent value, ¥ 31fei® IR 39 dTelT A
(b) Least frequent value, et &H dR 3 daTell A9
(c) Center of gravity, T &
(d) Middle most value, &= &1 #H

26.Mode is: Tga® ©:
(a) Most frequent value, Se¥1 81fffs IR 319 dTelT A1
(b) Least frequent value, \et &H dR 3T dTell A9
(c) Middle most value, s &1 HH

(d) Representing majority out of total frequency, &1 IRER ¥ Haifed & Fwiud
B T

27.Which of the following is true? f=ifea # dH—ar 9 87
(a) Mean= 3 Median — 2 Mode, drea =3 A1fegedT — 2 gl
(b) Median = 3 Mode — 2 Mean, A1fegedT = 3 gg8cid — 2 H1ed
(c) Mode = 3 Median — 2 mean, 9o = 3 HIfegedl — 2 Ay
(d) Mode = Mean + Median , ¥gcfd = #1ed + HIfedeh!

28.Which of the following relationship is correct? 7 7 & H9F— Hawr F&r 87
(a)AM.= VG.M x H.M. (b) HM. =vVA.M.X G.M (c) G.M. =
VG.M.x H.M.




AM+H.M.
2

(d)G.M. =

29.The geometric mean of two number 8 and 18 shall be: 3T 3f&T 8 3R 18 HT YUIKR
Heg EAT:
(a) 12 (b) 13 (c) 15 (d) 11.09

30.1f the A.M and H.M. of two numbers are 5 and 3.2 respectively them geometric

mean will be: a1 F=RIT &1 A.M 3R H.M. F9: 5 iR 32 & AT Uk A=A 8N
(a) 4.05 (b) 16 (c)4 (d) 4.10

31.Least square method is used for calculating trend: = avf IfT &1 9ART IuART
ST B ® oIy fhar SImar &
(a) True, |21 (b) false, Tetd

32.The seasonal fluctuation are: #r¥#i S=ar@=@ &1d
(a) Periodic and irregular 3mafere va sif-af#a (b) periodic and regular smaferes va
fafa (c) not periodic, 3mafed 8! (d) cyclical, @™

33.the most important factor causing seasonal variations are: AT faaRoll &1 S~
B ATl FIH AUl HRSD o
(a) growth of population, ST gig

(b) change in fashion %M # aRacd+
(c) weather and social customs #H 8iR amTfa® SfaRars
(d) technological improvement d&+iifd geaR

34.the probability of drawing a red ball from a bag containing 4 red and 5 white
balls is: 4 ATt TIT 5 AHE &) Tt U Ot § A Th olal Ag b &7 Urfiddr &
(a) 4/5 (b)3/5 (c) 1/5 (d) 4/9

35.The probability of 53 Sundays in randomly chosen leap year is: T& Jrgzear g 1Y
AfT—ay ¥ 53 IAAIR EH IRIHAT =
(a) 3/7 (b) 1/7 (c)2/3 (d) 2/7



36.1n a single throw of two dice the probability of getting a total greater than 8 is: T
U U 9R Bl R 8 3 3ifSd AT UTd 819 &1 UTfdbal &

(a) 8/36 (b) 12/36  (c)5/8 (d) 4/16
37.The probability of drawing a black card or king from a pack of cards is: el @I t&®
TSl TUh BTl YT 3FAdT d1S2e fAbot T UTfshdT &
(a)26/52  (b)4/52 (c) 7/13 (d) 2/13
38.At the time of interpolation continuous series is not cumulated under: 3m=RIo=
(a) Binomial expansion method fgug fawar afq #
(b) Netwon’s method =Je=1 afar #
(c) Lagrange’s method <fxet Sfa #
(d) All the above Swjaa &+
39.Binomial expansion method is based on: fgug favr AfT smnRa
(a) Multiplication theorem T[oH y#y W
(b) Additive theorem IrT 9T =X
(c) Binomial theorem fgue v9g w®
(d) None of these 7% & ®Ig &l

40.Which is the method that can be used in any type of questions of interpolation?
VT D19 A1 AT 8 S AR & fhddl Wl UBR @ U H TANT Bl Sff Fdhdl §
(a) Netwon’s method =ge+ fa
(b) Binomial expansion method fgus fazar dfc
(c) Lagrange’s method < Rwt Sifa
(d) Sterling’s formula wefefir Af
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Group A (2 Marks)
1.9f& nca = 5 xnp3dl n T HE A R
If nca =5 xnps, find n.

2.9 A@1fert (Evaluate)

3. gHTHH ®X (Integrate)

dx
%2 (x<5)

4. 52 U 9T <ITRT B U T3] Y T I b Widl S Bt Ui T g 2


F.M-  40

दो 
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What is the probability of drawing a Queen in a draw from a pack of 52 cards?

5. T BT gRT 3ih, O U 31f=1d H UTwdich hHT: 75, 92 9T 49 g Y ST 3¥d UTdich
e |

The marks obtained by a student in English, Mathematics and Economics are 75,
92, and 49. Find its Average score.

6. afg (If) A = [i _32]?-ﬁAI I ®2 (then find A7).

7.3t (If) A={3,5,7,9}, B =1{6,8,10}dI (then find) A U B Jid ®3|

Group B (3 Marks)

8. Tfe for<lt grToR Juft b1 8 9T 3R 25 9T UG HHTT: 15 3R 49 & T UG UG 3R USIR Jd IO

If 8" and 25 term of an A.P are 15 and 49 respectively then find its first term and
common difference.

9. I [2 6]am6g<—qmsrmﬁ|

Find the inverse of Matrix [g g]

10. 520 fFTA} & THE A 360 Had 3=l TUT 130 Had S Sid Johd & | fhda aafaa fe=dl oik
3TTSTt G et b g7

In a group of 520 persons, 360 can speak only Hindi and 130 only English. How
many persons can speak both Hindi and English?

11. x o ATUE g difoid (Differentiate with respect to x).

(x—3)(x+2)
X

12. 91 fAe@1et (Evaluate).



I —en(nz—l) dx
X

13. Ue fad 4 B9 3 = T8 avman @ iR gerT aafaa 3 1 9 2 e wgt a8 1 afe gt gt
e T T T DX dll 9&d o e Uidhar 1d Pifod |

A person is known to hit the target in 3 out of 4 shots, whereas another person is
known to hit 2 out of 3 shots. Find the probability of the target being hit at all
when they both try.

14. 9fe 3 W37 HT THR A1eT 10 § 3R 36T TOUNRR JTed 8 § Al 31 g1 H1e I SHifoT |

If Arithmetic mean and Geometric mean of two numbers are 10 and 8 respectively,
find its Harmonic mean.

Group C (5 Marks)
15. g 3wl | HifeesT J1d HIfoTe:

Calculate median from the following data:

T (Marks) : 5-10 | 10-15 | 15-20 | 20-25 | 25-30 | 30-35 | 35-40 | 40-45

BHET D W (Number of 6 5 18 10 5 4 2 2

students)

16. 1a 9oft 1 82 Hra Aoft fa=e T &1 He@ &1 Are & |
What is a time series? Explain the importance of Time Series Analysis.

17. i qiieresT § deeprel Siae &1 anfies! 100 30 b o forT framan T &




The following table shows the value of an immediate life annuity for Rs. 100 paid:

39 aul | 40 50 60 70
(Age in years)
(Annuity) 6.2 7.2 9.1 12.0

42 af Bt g & R A DHT 71 PN

Interpolate the annuity for the age of 42.

18. FHIH T @< (Integrate)

(i). flogx dx  (ii). | xvx—1dx

19. 54554555+ ... vvrereeenrieees n UG 0% BT ANTHd 1d R
Find the Sum to the n terms

54554555+, n




